
04-24-2023

Focus CR Height Adjustable Dual Post Flip Back Armrest 



04-24-2023

If retrofitting, Receivers are needed.
 

Item Number Part Number Description Quantity
1-5, 6a, 7a, 8-
12, 13a, 14-23 501139 Armrest Assembly Dual Post Desk Pad PAIR w/

Receivers Focus 1

1-5, 6b, 7b, 8-
12, 13a, 14-23 501138 Armrest Assembly Dual Post Full Pad PAIR w/

Receivers Focus 1

1-5, 6a, 8-12,
13b, 14-23,
24b

110036 Armrest Assembly Dual Post Desk Waterfall Pad
PAIR w/ Receivers Focus 1

1-5, 6b, 8-12,
13b, 14-23,
24b

110037 Armrest Assembly Dual Post Full Waterfall Pad
PAIR w/ Receivers Focus 1

1a, 2a, 3, 4,
5a, 6a, 7a, 8-
12, 13a, 14-23

502294 Armrest Dual Post Kit Right Desk Pad w/
Receivers Focus 1

1b, 2b, 3, 4,
5b, 6a, 7a, 8-
12, 13a, 14-23

502295 Armrest Dual Post Kit Left Desk Pad w/
Receivers Focus 1

1a, 2a, 3, 4,
5a, 6b, 7b, 8-
12, 13a, 14-23

502296 Armrest Dual Post Kit Right Full Pad w/
Receivers Focus 1

1b, 2b, 3, 4,
5b, 6b, 7b, 8-
12, 13a, 14-23

502297 Armrest Dual Post Kit Left Full Pad w/ Receivers
Focus 1

1a, 2a, 3, 4,
5a, 6a, 8-12,
13b, 14-23,
24b

110032 Armrest Dual Post Kit Right Desk Waterfall Pad
w/ Receivers Focus 1

1b, 2b, 3, 4,
5b, 6a, 8-12,
13b, 14-23,
24b

110033 Armrest Dual Post Kit Left Desk Waterfall Pad w/
Receivers Focus 1

1a, 2a, 3, 4,
5a, 6b, 8-12,
13b, 14-23,
24b

110034 Armrest Dual Post Kit Right Full Waterfall Pad w/
Receivers Focus 1

1b, 2b, 3, 4,
5b, 6b, 8-12,
13b, 14-23,
24b

110035 Armrest Dual Post Kit Left Full Waterfall Pad w/
Receivers Focus 1

5b, 6a, 7a, 8,
9, 13a, 17-23 503301 Armrest Dual Post Kit Right w/ Desk Pad Focus 1

Does Not Include Receivers or Mounting Hardware

5a, 6a, 7a, 8,
9, 13a, 17-23 503302 Armrest Dual Post Kit Left w/ Desk Pad Focus 1

Does Not Include Receivers or Mounting Hardware

5b, 6b, 7b, 8,
9, 13a, 17-23 503303 Armrest Dual Post Kit Right w/ Full Pad Focus 1

Does Not Include Receivers or Mounting Hardware

5a, 6b, 7b, 8,
9, 13a, 17-23 503304 Armrest Dual Post Kit Left w/ Full Pad Focus 1

Does Not Include Receivers or Mounting Hardware

5b, 6a, 8, 9,
13b, 17-23,
24b

503305 Armrest Dual Post Kit Right w/ Desk Waterfall
Pad Focus 1

Does Not Include Receivers or Mounting Hardware



04-24-2023

Item Number Part Number Description Quantity
5a, 6a, 8, 9,
13b, 17-23,
24b

503306 Armrest Dual Post Kit Left w/ Desk Waterfall Pad
Focus 1

Does Not Include Receivers or Mounting Hardware

5b, 6b, 8, 9,
13b, 17-23,
24a

503307 Armrest Dual Post Kit Right w/ Full Waterfall Pad
Focus 1

Does Not Include Receivers or Mounting Hardware

5a, 6b, 8, 9,
13b, 17-23,
24a

503308 Armrest Dual Post Kit Left w/ Full Waterfall Pad
Focus 1

Does Not Include Receivers or Mounting Hardware

1a, 3, 4, 10,
12, 14-16 502290 Dual Post Armrest Rear Receiver Assembly w/

Hardware Right Tilt 1

1b, 3, 4, 10,
12, 14-16 502291 Dual Post Armrest Rear Receiver Assembly w/

Hardware Left Tilt 1

2a, 8, 11, 14,
15 502292 Dual Post Armrest Front Receiver Assembly w/

Hardware Right Tilt 1

2b, 8, 11, 14,
15 502293 Dual Post Armrest Front Receiver Assembly w/

Hardware Left Tilt 1

1a 001173 Dual Post Armrest Rear Receiver Assembly Right
Tilt 1

1b 001174 Dual Post Armrest Rear Receiver Assembly Left
Tilt 1

2a 001175 Dual Post Armrest Front Receiver Assembly
Right Tilt 1

2b 001176 Dual Post Armrest Front Receiver Assembly Left
Tilt 1

3 001182 Mount Plate Dual Post Armrest Tilt 1

4 001183 Bushing Dual Post Armrest Tilt 1

5a, 17-23 001232 Dual Post Armrest Frame Assembly Lower Left
Tilt 1

5b, 17-23 001231 Dual Post Armrest Frame Assembly Lower Right
Tilt 1

6a 001213 Dual Post Armrest Frame Upper Desk Tilt 1

6b 001214 Dual Post Armrest Frame Upper Full Tilt 1

7a 100501 Arm Pad Desk 1

7b 100500 Arm Pad Full 1

8 114443 Tube Spacer, Black, 1" OD x .083" x .80 LG 2

9 100803 Tube End Plug 7/8" 2

10 101849 M6 x 65 SHCS Blk Zn 1

11 101472 M6 x 45 SHCS BLK ZC 1

12 101130 M6 x 55 FSHCS P/THD BLKZC 1

13a 100696 M5 x 30mm PPH Capscrew 2



04-24-2023

Item Number Part Number Description Quantity
Used with Standard Arm Pads

13b 100654 M5 x 40 DIN7985 PH Pan HD M/S ZC 2

Used with Waterfall Arm Pads

14 100658 M6 Nylock Nut Blk Zn 3

15 100746 M6 Flat Washer Blk Zn 4

16 102003 Washer, Black Nylon .51 ID X .875 OD X .062 1

24a 102452 Waterfall Arm Pad Full 1

24b 102521 Waterfall Arm Pad Desk 1


